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Part-1 (Marks 60)

1. Determine the bending moment and shear force on beams and columns shown in Fig.1.
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2. Draw the shear flow for the channel sectlon shown in an 2. Also find the shear centre of
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0 Derive the basic equation of Column Analogy method. '
OR
Analyze the following frame by column analogy method
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'co4 | Find out the ilvltimate_-bai]-n load W, acting on a propped cantilever beam of lengtﬁ L7
2 (a) by upper bound theorem and lower bound theorem, if the plastic moment carrying
capacity of the beam is Mp.
2(b) Find the collapse load for the following portal frame. 7
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co3 Find the maximum value of B.M. at midpoint of BC of the beam ABC, if | 14
3)

10kN/m UDL load of length 50m load passes over ABC. The beam is made of
M30 grade of concrete. I=0.1 m®.
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